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(3a — 5b) 4 )

If 1.5a = 0.2b, then what will be the value of

(3a +5b) 27
qfd 1.5a=02b g, dl ngr zg 247 ? &1 HI- 1 T2
1
1
2




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

The product of the LCM and HCF of two positive numbers is 72 and the
difference between these numbers is 6. What will be the sum of the numbers?

&l 4TS JXAT b .9.9. 3R B.9.9. BT UG 72 & 3R o1 J=A13 & did
P AR 6 © | AT DT N AT gHII?

a)e
b) 12
C) 18
d) 24
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[FEfcd &1 g DIfoTu-

Solve the following

2.36 — 3.05 + 4.33 = 7

a) 3.64
b)3.34
C) 3.44
d) 3.33
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If 812 x 642 x 4024 x 2513 = 40°, what will be the value of a ?

gfa 812 x 642 x 4024 x 2513 = 4053, dl a T A T BI?

a) 05
b) o7
C) 0.9
d) -
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The numbers 2270, 3739 and 6677 must be divided by which of the following
numbers to get the equivalent balance in each case?

T (RUTT o a1 Y T H4 & folu Tareff 2270, 3739 3R 6677 B 9 o
I [ IR I fAHToId fhdr ST drieu?

a) 1459
b) 1469

C) 1479

d) 1489
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X and Y are two compounds that are made of a mixture of silver and copper in
the ratio 4 : 3 and 4 : 7 respectively. A new alloy Z is formed by melting equal

amounts of both these compounds. Now, what will be the ratio of silver and
copper in alloy Z ?

X 3R Y Tl AP © ST dial SR did & (8901 &I hHRI: 4 : 3 3R 4 : 7 o 3l
o AR S 1 T © | S Gl i | B JHH JET &I [Ugdrd: U -2 figend
Z 9415 SIIdl g | 319, [Hgerg z § dicl SR did &1 S-a1d o1 gRTI?

a) 41:33
b) 41:36
C) 33 : 41
d) 36:41
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If Raju earns 20% more than Vijay, then what percentage of income earned by
Vijay is less than the income earned by Raju ?

T A, fasta | 20% siftra 3 SHiofd Bl ¢, dl faog & gRI oI 3 o1
[ a1 Ufa=rd 19 & gRI 3ffold 31 A ©H g2

d
b) (50/3)%

) 25%

C) (40/3)%

d) (20/3)%
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X, Y and Z completed a work costing Rs. 4,480. X worked for 4 days, Y for 6
days and Z for 8 days. If their daily salary is in the ratio 5 : 6 : 7, then how much

money will X get?

4,480 39 o D 0 P X, YGﬁTZlﬂ{I PA Tl X, 41, Y, 6 fd 3R Z, 8 faA
HTH Bl 5| Ale DT ¢Hb dd-15: 6 : 7 & SUMd | g, dl X fba-! e=RIRI Ured

HUT?

a) Rs.800
b) rs. 1200
C) Rs. 2400

d ) Rs. 3000
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A train departs from Hyderabad at 7 am and reaches Vijayawada at 11 am.
Another train departs from Vijayawada at 9 am and reaches Hyderabad at 12:30
pm. At what time will the two trains cross each other?

Udh ¢ gaxIalG 9 Jdlg 7 §of Haddl g 3R Ydlg 11 &0 [dorgars] Ygddl o | garl
¢ faoiTars] 9 Ydig 9 &ol Hdddl g 3R 3URIE 12 : 30 &% gaxidle Ygddl o
Gl ¢ g T R Uh g8 I R B2

a)gﬁoAM
b) 9:56 AM
C) 10:02AM

d) 1008 Am
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Atank 9 m long, 4 m wide, and (1/3) m deep is dug in a field 24 m long and 14
m wide. If the dug soll is spread evenly over the rest of the field, then by how
much will the height of the field increase?

2¢ﬁaf@dhuuﬁﬁﬁ%urmwﬂﬂﬂﬁﬁaﬁ4ﬂh?m€:“mmﬂﬁﬁ
TgRl Udh <hl @il Sldt ¢ | dfe (Hdbrel TRl gt @f 99 &4 4 /Y de H bl
fear STar g, o HeM @t A | ot gfg gii?

a) 45cm
b) 5 e
C) 3.5 cm
d) 4om
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A tap can fill a cistern in 8 hours. After half the tank is full, four more identical
taps of the same type are opened. What is the total time taken to fill the tank
completely?

U I UP o] DI 8 U H WX hdl o 3T ehl WA & 91, JHH UPR & IR
3 9d @ldl Sld | Sl I Yuid: U H 17T 11 5 )1 57

a) 4 hours 46 minutes
b) 4 hours 48 minutes
C) 4 hours 38 minutes

d) 4 hours 30 minutes
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If X% - 3x + 1 = 0 then what is the value of X% + x + (1/x) + (1/x?) ?

gia x2-3x+1=070, dl X2 + X + (1/x) + (1/x2) DI HHE &1 g7
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The mean of a set of 6 observations is 10 and that of a set of 4 observations is
5. What will be the mean of the mixed sets ?

6 U&UT & Uch JH==] [ U1 10 © 3R 4 &I & Uh J=ag bl {19 5 g | [Af%d
JH &1 HIe] T gRT?

a) 7s
b) =
C) s
d) .
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A mixture of 15 liters of milk and water contains 5% water. How much pure milk
should be added to get a mixture containing 2% water 7

0y [,

15 WIex g8 3R UTHT o [HH01 T 5% U § | 2% YT arell [H901 Uit - & fefu
[T Y G [T ST angu?

a) 20.5 liters
b) 21 liters
C) 21.5 liters

d) 22.5 liters
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If the sum of interior angles of a polygon is 1800°, find the number of sides of
the polygon.

gic fodl agYS & 3{d: HIVI BT INT 1800° B, Al dgHSl Pl YollS{i B AT 14
DT

10

11

12

14
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